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¥

Log Properties ‘ o ﬁ[in =W
L) = 5 foler) = nine s =y
Vo 2 indab) = lna 4 inb 4. m(?} =lng~Ink ‘

e
5. In(e)=1

Expanding a Logarithmic Expression: Use properties of logarithms to expand the logarithmic expression

1. y=1In (x (m))
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2. f(x)=In

/’ \) Condensing a Log Expression: Use properties of logarithms to write expression as a logarithm of a single quantity
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Find the derivative of the functions below:
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6)y = Vx7 +3x°In(vVx* - 1) Find y’(X)

Use Log differentiation to find the derivative of the function:

2 _ (W7-)
Y= (2x2)/(3-2x3)5

Use Implicit Differentiation to find %z

8) ln(g)—y+4x3+x=5n— 3y?

9) Find an inverse function for f(x): f(x) = 3(3\/5 - x)

Use function f(x) and the given real number a to find (f ~)’(a)

10) f(x)=3x3-2x-3 a=17
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Expanding a Logarithmic Expression: Use properties of logarithms to expand the logarithmic expression
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Use Log differentiation to find the derlvatlve of the function:
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9) Find an inverse function for f(x): f(x) = 3(\/ - x) ~ ,___,,'————'——'"“
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Use function f(x) and the given real number a to find (f "1)'(a)

Use Implicit Differentiation to find i’
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